

NAME: OJUKWIU ZENITA NGOZI
 DEPT.: CHEMICAL ENGINEERING
 MATRIC NO: 15/ENGO1/011

$$1) y = e^{x^2+x}$$

$$y' = 2x + 1 (e^{x^2+x})$$

$$y'' = e^{x^2+x} (2) + (2x+1)(2x + e^{x^2+x})$$

$$= 2y + (2x+1)y'$$

$$\therefore y'' = y'(2x+1) + 2y$$

Hence; $W_1 = y^2$

$$W_2 = y'(2x+1)$$

$$u = y^2 \quad v = 1$$

$$u = y' \quad v = (2x+1)$$

$$u^n = y^{(n+2)}$$

$$u^n = y^{(n+1)} \quad v' = 2$$

$$u^{(n-1)} = y^{(n)} \quad v'' = 0$$

$$W_3 = 2y$$

$$u = y \quad v = 2$$

$$u^n = y^n \quad v' = 0$$

$$W_1 = W_2 + W_3$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + ny^{(n)} \cdot 2 + y^{(n)} \cdot 2$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^{(n)} + 2y^{(n)}$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

$$2) y = x^3 e^{4x}$$

$$u = e^{4x}$$

$$v = x^3$$

$$u^n = 4^n e^{4x}$$

$$v' = 3x^2$$

$$u^{(n-1)} = 4^{(n-1)} e^{4x}$$

$$v'' = 6x$$

$$u^{(n-2)} = 4^{(n-2)} e^{4x}$$

$$v''' = 6$$

$$u^{(n-3)} = 4^{(n-3)} e^{4x}$$

$$v^{(4)} = 0$$

$$y^n = U^n V + n U^{(n-1)} V' + \frac{n(n-1)}{2!} U^{(n-2)} V'' + \frac{n(n-1)(n-2)}{3!} U^{(n-3)} V'''$$

$$y^5 = 4^5 e^{4x} \cdot x^3 + 5(4^{(5-1)} e^{4x}) \cdot 3x^2 + \frac{5(5-1)}{2!} (4^{(5-2)} e^{4x}) \cdot 6x + \frac{5(5-1)(5-2)}{3!} (4^{(5-3)} e^{4x}) \cdot 6$$

$$y^5 = 1024 e^{4x} \cdot x^3 + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^5 = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^5 = 64 e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

$$2.ii) x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$\therefore x^2 y'' + x y' + y = 0$$

$$W_1 = x^2 y''$$

$$W_2 = x y'$$

$$W_3 = y$$

$$U = y^2$$

$$V = x^2$$

$$u = y'$$

$$U = y$$

$$U = 1$$

$$U^n = y^{(n+2)}$$

$$V' = 2x$$

$$U^n = y^{(n+1)}$$

$$V = x$$

$$U^n = y^n$$

$$U^{(n-1)} = y^{(n+1)}$$

$$V'' = 2$$

$$U^{(n-1)} = y^{(n)}$$

$$V' = 1$$

$$U^{(n-2)} = y^n$$

$$V''' = 0$$

$$\therefore W_1 + W_2 + W_3$$

$$y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2!} y^{(n)} 2 + y^{(n+1)} x + n y^{(n)} + y^{(n)} \cdot 1 = 0$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + x y^{(n+1)} + n(n-1) y^{(n)} + n y^{(n)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n(n-1) + n + 1) y^{(n)} = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - n + n + 1) y^{(n)} = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$